
 

 

Answer on Question #59342 – Math – Trigonometry 

Question 

1. Which value is a solution for the equation 𝑡𝑎𝑛
𝑥

2
= 0? 

𝜋 
3𝜋

2
 

𝜋

2
 

2𝜋 

 

Solution 

 𝑡𝑎𝑛
𝑥

2
=  

𝑠𝑖𝑛
𝑥

2

𝑐𝑜𝑠
𝑥

2

, then 𝑡𝑎𝑛
𝑥

2
= 0 when the numerator is equal to zero. We know 

 sin (𝛼) = 0 when 𝛼 =  𝜋 ∙ 𝑛, 𝑛 = 0, ±1, ±2, … Then we equate  
𝑥

2
  to 𝜋 ∙ 𝑛 and solve 

equation: 
𝑥

2
=  𝜋 ∙ 𝑛 

𝑥 = 2𝜋 ∙ 𝑛, 

hence 2𝜋 is a solution to the equation. 

 

Answer:  2𝜋. 

 

Question 

 2. The value 
5𝜋

4
 is a solution for the equation 3√2 sec 𝜃 +  7 = 1? 

True 

False 

Solution 

 Let’s check if  
5𝜋

4
 is a solution. Substitute it into the equation: 

3√2 sec 𝜃 +  7 = 1 

3√2 𝑠𝑒𝑐 (
5𝜋

4
) +  7 = 1 

We know that 𝑠𝑒𝑐 ∝ =  
1

𝑐𝑜𝑠∝
 . 

3√2 
1

𝑐𝑜𝑠(
5𝜋

4
)

 +  7 = 1, 

 

𝑐𝑜𝑠 (
5𝜋

4
) =  −

√2

2
, 

 

3√2 
1

−
√2
2

 +  7 = 1, 

 



 

 

3√2  ∙  (−
2

√2
)  +  7 = 1, 

 

−6 + 7 = 1, 

which is true. 

Answer: True. 

 

Question 

3. There is no solution to the equation 𝑐𝑠𝑐𝑥 =  −1. 

False 

True 

Solution 

  Let’s solve equation 𝑐𝑠𝑐𝑥 =  −1. We know 𝑐𝑠𝑐 ∝ =  
1

sin∝
 , then we can rewrite the 

equation as 
1

sin 𝑥
=  −1, 

 

sin 𝑥 =  −1, 

𝑥 =  
3𝜋

2
+ 2𝜋𝑛, 𝑛 = 0, ±1, ±2, …  

We can see a solution exists. 

 

Answer: False. 
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